Quiz 8

(@ This is a preview of the published version of the quiz

Started: Nov 1 at 1:12pm
Quiz Instructions

This quiz has three (3) multiple-choice problems and three (3) problems that require an exact numerical answer. For

each problem that requires a numerical answer, the answer will be an integer. Each problem is worth one (1) or two (2)

points.
Question 1 ‘ 2 pts '
Let r(2) = cos(—500z). Use the first derivative to determine whether r is increasing or decreasing
at the point where z = 0.15.
o MixY)= - sim (-500x) « (- 500)
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0'(0.18) = 500 sw (-75)* /93.9 > O
Question 2 . 2 pts
Suppose the function f(z) and its derivative f’(z) are defined for all real numbers. The only critical
numbers of f(z) are ¢ = —3 and ¢ = 1.5. Use this information and the information given below to
find the unique relative maximum value of f(z).
fl(_g) = —9J, f/("_z) = 1.25, f’(l) =2, fl(3) = —6, f(_s) = 15, f(15) =-1
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t J "Let g(z) = 52" — 7x8 + 8z — 1. The graph of g has a single inflection point. Find the y-
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Question 4 2 pts

%Concave down

Use the second derivative to determine whether the graph of y = 3 + sin(10z) is concave up or

concave down at the point where x = 0.65. d ‘ N
<L = 33 ¢ 10 cos (1)
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QO Concave up . d
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Question 5 ) . ‘ 1 pts
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sin z

Determine the horizontal asymptote of the graph of Y=

See EXAMP\_&L\ IN Twhe
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O The graph does not have a horizontal asymptote.

Question 6 | 1 pts

Determine the limit:  li

|
|

a
i
i

VETE | T e {0
ac—)rfalo 1—=2 * = X=>oc0 -%(—-_—\ —\
L |

AR' \]_XT= X For PorTwE X : !

Not saved Submit Quiz




Quz B~ Question a
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